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West Bengal Police SI (Prelims) Exam. – Practice Set

1. (a) „þ‚öì@ùÌ¢ £œ !î!¦þ§¬ ö”Ÿ– !˜îÅy‰þ˜# îûy‹Ä ¢‚ßþiy– öÝþÆvþ £zvþz!˜ëû̃ –
îûy‹÷ì̃ !“þ„þ ”œ îy x˜Äy˜Ä ö†yÛþ#îû ²Ì!“þ!˜!•öì”îû xy %̃Ûþy!˜„þ
¢¦þyÐ

 œÄy!Ýþ˜ „þ‚öì@ùÌ¢ öíöì„þ ë%öìkþîû ¢›ëû ~„þ!Ýþ ›%öì…y›%!… £çëûy
S!îöìîûy•#öì”îû ¢¦þyV öîyGþyöì“þ ~£z Ÿ·!Ýþîû vþzêþ™!_ £öìëû!ŠéœÐ

2. (b) ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ ~œ ö„þ Gþy „þ!›!Ýþîû ¢%þ™y!îûöìŸ 1976
¢yöìœ ›)œÄë%_« „þîû ‰þyœ% £ëûÐ

3. (d) öîû̃ yœ „þÄyþ™¢%œ !„þvþ!˜îû „þyëÅ„þîû# !Ýþ¢%Äöì„þ !‡öìîû íyöì„þ ~î‚
~!Ýþ !˜öì‹£z ~„þ!Ýþ ‰þ!îÅë%_« xÄy!vþöìþ™y‹ „þÄyþ™¢%œ fascia
~î‚ ‰þ!îÅ myîûy öî!ÜT“þ íyöì„þÐ

4. (c) îûy‹ßþº ”yëûîkþ“þy ~î‚ îyöì‹Ýþ þ™!îû‰þyœ˜ xy£z̃ – (FRBM
Act) 2003 xy!íÅ„þ ‡yÝþ!“þ £Éy¢ „þîûöì“þ xy!íÅ„þ Ÿ,Cœy
²Ì!“þÛþy „þöìîûÐ

 FRBM Actéôé~îû ¢îÅöìŸ¡ì !î•y˜=!œîû ›öì•Ä ¢îû„þyîûöì„þ
îœy £öìëûöìŠé öë xy!íÅ„þ ¢‚„þÝþ 37, GDPéôé~îû ¢#›yîkþ
„þîûy 31 ›y‰Åþ 2021 ¢yöìœîû ›öì•ÄÐ

5. (a) þ™œy!Ÿ ë%öìkþîû ¢›ëû !m“þ#ëû xyœ›†#îû ›%‡œ ¢ÁËyÝþ !Šéöìœ˜Ð
!“þ!˜ ‹y£y¨yîû Ÿyöì£îû öŠéöìœ !Šéöìœ˜Ð !m“þ#ëû xyœ›†#îû
1754 !…ÊÞÝþy· öíöì„þ 1759 !…ÊÞÝþy· þ™ëÅhsþ ¦þyîûöì“þîû ›%‡œ
¢ÁËyÝþ !Šéöìœ˜Ð

6. (a) œyœy œy‹þ™“þ îûyëû ‹y!“þîû ßþºy•#˜“þy x‹Åöì̃  x¢y›y˜Ä xî”y˜
öîûöì…!Šéöìœ˜Ð !“þ!˜ þ™yOyî ˜ÄyŸ˜yœ îÄyBþ ²Ì!“þÛþy „þöìîû!Šéöìœ˜Ð
¢y£z›˜ „þ!›Ÿöì̃ îû !îîû&öìkþ ²Ì!“þîyöì” þþ™%!œöìŸîû œy!àþ‰þyöì‹Å
!“þ!˜ ›,“%þÄîîû’ „þöìîû̃ Ð

7. (a) !”!ÍÔîû !šþöìîûy‹ Ÿy£ ö„þyÝþœyëû 1928 ¢yöìœ !£¨%ßþiy˜
ö¢yŸÄy!œÞÝþ !îûþ™yî!œ„þy˜ xÄyöì¢y!¢öìëûŸ˜ †!àþ“þ £öìëû!ŠéœÐ
~!Ýþ ‰þwöìŸ…îû xy‹yöì”îû ö˜“,þöìc ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

8. (c) ò›_!îœy¢ ²Ì£¢˜ó @ùÌöìsþiîû îû‰þ!ëû“þy ²Ìí› ›öì£w î›Å̃ Ð !“þ!˜
þ™ÍÔî îûy‹î‚öìŸîû Ÿy¢„þ !Šéöìœ˜Ð ›_!îœy¢ ²Ì£¢˜ £œ
¢‚ßþ,ñ“þ ¦þy¡ìyëû îû!‰þ“þ ~„þ!Ýþ ˜yÝþ„þÐ

9. (b) £y£zþ™yîûöì›öìÝþÆy!þ™ëûy îy ”)îû”,!ÜT ­éôô ›y %̃öì¡ìîû ö‰þyöì…îû e&!Ýþ öë…yöì̃
öîû!Ýþ˜yîû !þ™Šéöì̃ ²Ì!“þ!îÁº ÷“þ!îû £ëûÐ

£y£zþ™yîûöì›öìÝþÆy!þ™ëûy ¢‚öìŸy•öì̃ îû ‹˜Ä vþz_œ öœª îÄî£*“þ
£ëûÐ

10. (c) ”y!Çþ’yöì“þÄ “%þ‡œ„þ Ÿy¢öì̃ îû !îîû&öìkþ !îöìoyöì£îû þ™!îûöì²Ì!Çþöì“þ
1336 ¢yöìœ ²Ì!“þ!Ûþ“þ– !£ %̈ !î‹ëû̃ †îû ¢yÁËy‹Ä ”!Çþ’
¦þyîûöì“þ ²Ì¦þyîŸyœ# Ÿ!_« !£¢yöìî ”%£z Ÿ“þy·#îûç öî!Ÿ ¢›ëû
•öìîû !Ýþöì„þ !ŠéœÐ

Answer with Explanation

11. (a) !“þ!˜ Ÿe«y!”“þÄ ç ›öì£wy!”“þÄ ˜yöì› þ™!îû!‰þ“þÐ !“þ!˜ ˜yœ¨y
!îÙ»!î”Äyœëû ²Ì!“þÛþy „þöìîû̃ Ð £)̃ îûy “þyîû îûy‹öìcîû öŸ¡ì !”öì„þ
Ÿy!hsþ ç ¢›,!kþ îÄy£“þ „þöìîû!ŠéœÐ

12. (a) !îŸy…”öì_îû ¢‚ßþ,ñ“þ ˜yÝþ„þ ›%oyîûyÇþöì¢ ö„þï!ÝþœÄ ç ‰þw=®
ö›ïöìëÅîû £yöì“þ ˜¨î‚öìŸîû îûy‹yöì”îû þ™“þ˜öì„þ ßþ™ÜT¦þyöìî
!‰þ!e“þ „þîûy £öìëûöìŠéÐ

13. (c) ¢¤y‰þ# hß(þþ™ !˜›Åy’ „þöìîû!Šéöìœ˜ ¢ÁËyÝþ xöìŸy„þÐ ~£z !î…Äy“þ hß(þþ™!Ýþ
›•Ä²Ìöì”öìŸîû îûy£z¢˜ ö‹œyîû ¢¤y‰þ#öì“þ xî!ßþi“þÐ ~!Ýþ ö”öìŸîû
²Ìy‰þ#˜“þ› öîïkþ !˜”ŸÅ̃ =!œîû ~„þ!Ýþ ~î‚ î,£_› hß(þþ™Ð

14. (d) 343(1) ˜‚ •yîûyöì“þ !£!¨ ¦þy¡ìyöì„þ ¦þyîû“þ ¢îû„þyöìîûîû ¢îû„þy!îû
¦þy¡ìy !£¢yöìî vþzöìÍÔ… „þîûy £öìëûöìŠé ~î‚ ~îû ‹˜Ä îÄî£*“þ
!œ!þ™ £œ ö”î˜y†îû# !œ!þ™Ð

15. (c) £zvþzöì̃ öìßþñy £œ £zvþz̃ y£zöìÝþvþ ö˜Ÿöì̃ îû !ŸÇþy– ÷îKþy!˜„þ ç
¢y‚ßþ,ñ!“þ„þ ¢‚ßþiyÐ ~!Ýþ 1945 ¢yöìœîû 4 ˜öì¦þÁºîû †!àþ“þ
£öìëû!ŠéœÐ ~!Ýþîû ¢”îû ”®îû šÊþyöìªîû þ™Äy!îûöì¢ xî!ßþi“þÐ
î“Åþ›yöì̃  £zvþzöì̃ öìßþñyîû 143!Ýþ ¢”¢Ä ~î‚ 11!Ýþ ¢£öìëy†#
¢”¢Ä îûöìëûöìŠéÐ

16. (d) ¢®› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yëû ‹ç£îû öîûy‹†yîû öëy‹˜y
‰þyœ% „þîûy £öìëû!ŠéœÐ ‹ç£îû öîûy‹†yîû öëy‹˜y 1989 ¢yöìœ
îûy‹#î †yõþ# ¢îû„þyîû ‰þyœ% „þöìîû!ŠéœÐ ~!Ýþ ‹y“þ#ëû @ùÌy›#’
„þ›Å¢‚ßþiy˜ „þ›Å¢)‰þ# (NREP) ~î‚ @ùÌy›#’ ¦)þ!›£#˜ „þ›Å¢‚ßþiy˜
†Äyîûy!rÝþ ö²Ìy@ùÌy› ~„þ#¦)þ“þ £çëûyîû þ™öìîû îyhßþîy!ëû“þ £öìëû!ŠéœÐ

17. (c) î˜¢y†îû î¤y• ¦þyîûöì“þîû ›•Ä²Ìöì”Ÿ îûyöì‹Äîû öŸy˜ ˜”#îû vþzþ™îû
xî!ßþi“þ îý›%…# ˜”# vþzþ™“þÄ„þy ²Ì„þÒ ~î‚ ö¢‰þ ç ‹œ!î”%Äê
ö„þw ëyîû vþzêþ™y”˜ Çþ›“þy 435 ö›†yçëûyÝþÐ

18. (d) xy·%œ „þ!îû› …y˜ •Ê&þ™”# ¢‚†#öì“þîû !„þîûy˜y ‡îûy˜yîû ²Ì!“þÛþy“þy
!Šéöìœ˜Ð !„þîûy˜y ‡îûy˜y £œ ¢îöì‰þöìëû !î!ŸÜT ¦þyîû“þ#ëû •Ê&þ™”#
ö…ëûyœ ‡îûy˜y=!œîû ›öì•Ä ~„þ!Ýþ ~î‚ ~!Ýþ !˜…%¤“þ ¢%îû•¹!˜îû
¢yöìí ë%_«Ð

19. (a) ¢Á±!“þ ¢‚îy” !Ÿöìîûy˜yöì› xy¢y ›y‹%!œ ›Äy˜%!ßþ;þ²Wz !‰þe!Ýþ
x¢› îûyöì‹Äîû ¢öìD ë%_«Ð „þyîû&!ŸÒ=!œ îý Ÿ“þy·# xyöì†îû
~î‚ x¢öì›îû ¢y‚ßþ,ñ!“þ„þ ú!“þ£Äöì„þ “%þöìœ •öìîû !£ %̈ ›£y„þyöìîÄîû
†Ò=!œöì„þ !‰þ!e“þ „þöìîûÐ

20. (b) ö„þîûœÐ

21. (b) 2024 ¢yöìœîû !îÙ» ë"y !”îöì¢îû !í› £œéôôôé ‘Yes! We
Can End TB!’

22. (a) ¦þyîû“þ#ëû ›£y„þyŸ †öìî¡ì’y ¢‚ßþiy ISRO, PSLV xîû!îÝþyœ
~:öìþ™!îûöì›rÝþyœ ›!vþvþzœéôé 3 (POEM-3) vþzêöìÇþþ™öì’ ~„þ!Ýþ
vþzöìÍÔ…öìëy†Ä ¢yšþœÄ x‹Å̃  „þöìîûöìŠéÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20242

23. (c) 2024 ¢yöìœîû ò˜ÄyŸ˜yœ ¦þÄy„þ!¢˜ övþóîû !í› £œéôô
‘Vaccines Work for All’.

24. (a) îû“þ˜ ÝþyÝþy ¦þyîû“þ ‹%öìvþü !î!¦þ§¬ ¢Á±”yöìëûîû vþzþ™îû vþzöìÍÔ…öìëy†Ä
²Ì¦þyî “%þöìœ •öìîû “þyîû îÄ!“þe«›# ‹˜!£“þ„þîû „þyöì‹îû ßþº#„,þ!“þ
ßþºîû*þ™ ›ëÅy”yþ™)’Å ò!þ™ !¦þ ˜îû!¢›£y îûyç ö›öì›y!îûëûyœ þ™%îûßþñyöìîûó
¦)þ!¡ì“þ £öìœ˜Ð

25. (b) 20 ›y‰Åþ ²Ì„þy!Ÿ“þ çëûyÓÅþ £Äy!þ™öì˜¢ !îûöìþ™yÝÅþ (WHR)
2024éôé~ ¦þyîû“þ 143!Ýþ ö”öìŸîû ›öì•Ä 126“þ› ßþiyöì˜
îûöìëûöìŠéÐ ~£z !îûöìþ™yÝÅþ x˜%ëyëû# ¢îöì‰þöìëû ¢%…# ö”Ÿ £œ
!šþ˜œÄyuþÐ

26. (b) 1992 ¢yöìœîû îÄyöì‰þîû xy£z~šþ~¢ x!šþ¢yîû !î˜ëû „%þ›yîû
îûy!Ÿëûyëû „%þ›yîû ¦þyîû“þ#ëû îûyÜTÉ”)“þ !£¢yöìî !˜ë%_« £öìëûöìŠé˜Ð
~£z þ™öì” !˜ë%_« £çëûyîû þ™)öìîÅ !“þ!˜ ›yëûy˜›yöìîû ¦þyîûöì“þîû
îûyÜTÉ”)“þ !£¢yöìî !˜ë%_« !Šéöìœ˜Ð

27. (c) ¢Á±!“þ ö„þ ö„þ !îvþüœy šþyvþzöìuþŸ˜ „þ“Å,þ„þ ²Ì”_ 2023 ¢yöìœîû
ò¢îûßþº“þ# ¢Á¿yöì˜ó ¦)þ!¡ì“þ £öìœ˜ !î!ŸÜT ›yœëûyœ› „þ!î–
†#!“þ„þyîû– ¢y‚îy!”„þ– !Ýþ!¦þ vþzþ™ßþiyþ™„þ ²Ì¦þy ¦þy›ÅyÐ “¤þyîû öœ…y
‘Roudra Sathwikam’ ˜y›„þ „þyîÄ@ùÌöìsþiîû ‹˜Ä !“þ!˜ ~£z
¢Á¿yöì̃  ¦)þ!¡ì“þ £öìœ˜Ð

28. (b) xî¢îû²Ìy® „)þÝþ˜#!“þ!î” ˜¦þ˜#“þ „%þ›yîû ö¢£†œ ²Ì¢yîû
¦þyîû“þ#îû þ™!îû‰þyœ˜ öîyöìvÅþîû ö‰þëûyîûþ™y¢Å˜ !£¢yöìî !˜ë%_«
£öìœ˜Ð !“þ!˜ ~£z þ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû# ~ ¢)ëÅ²Ì„þyöìŸîû
ßþiœy!¦þ!¡ì_« £öìœ˜Ð

29. (c) Öe«yŸëû öíöì„þ !˜ƒ¢,“þ £îûöì›y˜ öÝþöìÞÝþyöìÞÝþîû˜ ~î‚
xÄyöìuÈþyöìÞÝþîû̃ Ð

30. (d) x!ßþi›IyÐ

31. (a) öë ¢î ö¦þï“þ îûy!Ÿöì„þ ”%!Ýþ ¢›‹y“þ#ëû îûy!Ÿîû x˜%þ™y“þ !”öìëû
þ™!îû›yþ™ „þîûy £ëû ö¢£z ¢î îûy!Ÿîû ö„þy˜ ~„þ„þ íyöì„þ ˜yÐ
öë›˜ þ™yîû›y’!î„þ =îû&c xþ™îû!”öì„þ xyöìþ™!Çþ„þ =îû&c £œ
~„þ„þ£#˜ ¢‚ßþiyÐ

32. (d) þö›Ýþy›îûöìšþy!¢¢Ð

33. (a) ¢yîy˜ £œ vþzF‰þ xy˜!î„þ ç‹˜ !î!ŸÜT ÷‹î šþÄy!Ýþ xÄy!¢vþ
öë›˜ !ÞÝþëûy!îû„þ xÄy!¢vþ– ç!œ„þ xÄy!¢vþÐ ¢yîy˜ ÷“þ!îûîû
‹˜Ä ˜yîûöì„þœ ö“þœ– !“þœ ö“þœ– “%þœy î#‹– ö“þœ ²Ìy’#‹
‰þ!îÅ îÄî£yîû „þîûy £ëûÐ

34. (a) MgSO
4
, 7H

2
O. ›Äy†öì̃ !Ÿëûy› ¢yœöìšþÝþ ç ~!Ýþ ‹öìœ

oyîÄÐ

35. (c) ~!Ýþ ~„þ!Ýþ £z‚öìîû!‹ Ÿ·Ð Have the body present
xíÅyê ¢Ÿîû#öìîû £y!‹îû „þîûyÐ

36. (b) ›)e ÷“þ!îû „þöìîûÐ

37. (a) „þy‰þ˜öìœîû ›öì•Ä 0.01 !›!› ‰þyöìþ™ îy“þy¢ öîûöì… ”%£z “þ!vþüêmyöìîûîû
›öì•Ä !î¦þî þ™yíÅ„þÄ …%î îyvþüyöìœ „þÄyöìíyvþ öíöì„þ xÄyöì̃ yöìvþîû
!”öì„þ ~„þîû„þ› x”,ŸÄ îû!ÙÂ !˜†Å“þ £ëûÐ !îKþy˜# ö†yÓþÞÝþy£z̃

~îû ˜y› ö”˜ „þÄyöìíyvþ îû!ÙÂÐ £z£y £zöìœ„þÝþÆ̃  „þ’yîû ²Ì‰þ[þ
öîöì† „þÄyöìíyvþ öíöì„þ xÄyöì̃ yöìvþîû !”öì„þ Š%éöìÝþ ëyëû ~î‚ „þyöì‰þîû
ö”çëûyöìœîû vþzþ™îû ²Ì!“þ²Ì¦þyî ¢,!ÜT „þöìîûÐ

38. (b) ~„þ!Ýþ xhsþƒþ™îû‹#î# ²Ìy’#îû vþz”y£îû’ !šþ“þy„,þ!›Ð öë¢›hßþ
þ™îû‹#î# öþ™y¡ìöì„þîû ö”öì£îû x¦þÄhsþöìîû î¢îy¢ „þöìîû– “þyîûy
£œ xhsþƒþ™îû‹#î#Ð ~îûy þ™%!ÜTœyöì¦þîû ‹˜Ä ¢Á™)’Å îy
xy‚!Ÿ„þ¦þyöìî xy×ëû”y“þy ‹#öìîîû çþ™îû !˜¦Åþîû „þöìîû íyöì„þÐ

39. (c) !¦þÝþy!›˜ C

šþÄyöìÝþ oyîÄ
!¦þÝþy!›˜ x¦þyî‹!˜“þ vþzê¢

öîûy†
A Söîû!Ýþ˜œV îûy“þ„þy˜y !‰þ‹– !e«›– ›y…˜–

!vþ›– !œ¦þyîû
D S„þÄyœ!¢öìšþîûœV !îûöì„þÝþ ç !vþöì›îû „%þ¢%›– !œ¦þyîû–

ç¢!Ýþ ç ›y‚¢œ ›yŠé
›Äyöìœ!îûëûy

E SöÝþyöì„þyöìšþîûœV îõþÄyc ö¦þ¡ì‹ ö“þœ
Sö¢yëûy!î˜– ¦%þRy– “%þœyîû
î#‹– ¢î!‹ S¢î%‹
þ™y“þyë%_«V

K Sšþy£zöìœy„%þ£z̃ ˜V îû_«“þMþé˜ ¢î%‹ Ÿy„þ¢î!‹
öîûy•

‹öìœ oyîÄ
B

1
S!íëûy!›˜V öî!îûöìî!îû …y”ÄŸ¢Ä ¢›,kþ þ™yvþzîû&!Ýþ–

îy”y›Ð
C SxÄy¢„þîû!î„þ ßþñy!¦Åþ Ÿy„þ¢î!‹– ›)œ“þ
xÄy!¢vþV ¢y£zÝþÆy¢‹y“þ#ëû šþœÐ

40. (a)  öšþ˜œ îy „þyîÅ!œ„þ xÄy!¢vþ !£¢yöìîç þ™!îû!‰þ“þÐ ~!Ýþ
~„þ!Ýþ xÄyöìîûyöì›!Ýþ„þ ÷‹î öëï†Ð

 öšþ˜öìœîû xy˜!î„þ ¢‚öì„þ“þÐ
 ¢y”y ”y˜y”yîû ßþºîû*þ™ „þ!àþ˜ þ™”yíÅ ç ¢£öì‹ vþzmyëû#Ð
 öšþ˜öìœîû x˜%öì“þ !šþ˜y£zœ ›)œ„þ íyöì„þ (-C

6
H

2
) ëy ~„þ!Ýþ

£y£zvÈþ!:œ ›)œ„þ (-OH) ~îû ¢yöìí îõþöì̃  íyöì„þÐ

41. (c) þœvÅþ ˜íÅîÊ&„þ 1876 !…ÊÞÝþyöì· ˜yÝþÄy!¦þ˜ëû !˜ëûsþf’ xy£z̃ ²Ìî“Åþ˜
„þöìîû̃ Ð îöìvþüyœyÝþ œvÅþ ˜íÅîÊ&„þ ˜yÝþÄy!¦þ˜ëû !˜ëûsþf’ xy£z̃
þ™yŸ „þöìîû ˜yÝþ„þ ²Ì”ŸÅöì̃ îû vþzþ™îû !˜öì¡ì•yKþy ‹y!îû „þöìîû̃
1876 !…ÊÞÝþyöì·îû 14 ›y‰ÅþÐ

42. (d) þ¢®› “þþ™!Ÿœ 246 ˜‚ •yîûyîû xhsþ†Å“þÐ

43. (b) þöœy„þ¢¦þyîû !ßþ™„þyîûÐ

44. (c) þ1962 !…ÊÞÝþyöì·Ð
þ™!Øþ›îöìD ö›yÝþ 5 îyîû îûyÜTÉþ™!“þ Ÿy¢˜ ‹y!îû £ëûÐ
1 ‹%œy£z 1962 éôô 7 !”˜Ð
1968 ¢yöìœ 20 öšþîÊ&ëûy!îû éôô 1 îŠéîû 5 !”˜Ð

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



3Achievers
19 ›y‰Åþ 1970 éôô 1 îŠéîû 14 !”˜Ð
1977 ¢yöìœ 28 ‹%̃  éôô 265 !”˜Ð
1977 ¢yöìœ 30 ~!²Ìœ éôô 51 !”˜Ð

45. (c) îy†îû Ÿöì·îû xíÅ Ö„þöì̃ y ö”ŸÐ
~!Ýþ vþz_îûéôéþ™!Øþ› ¦þyîûöì“þîû îyœ%„þy›yœ ~î‚ ¦þyîûöì“þîû
¢#›yhsþî“Åþ# þ™y!„þhßþyöì̃ îû þ™)îÅ x‚ŸÐ
vþz”y£îû’ßþºîû*þ™– ö‰þ˜yî ˜”# ~î‚ ¢%“þöìœ‹ ˜”#îû ›•Äî“Åþ#
îûy¦þ# ˜”#îû vþz_îû ç ”!Çþöì’ ‘I hang Bar’ îœy £ëûÐ

46. (c) !îŸy…yþ™_˜› öíöì„þ ²Ìyëû 114 !„þöìœy!›Ýþyîû ”)öìîû þ™)îÅ ‡yöìÝþ
xî!ßþi“þÐ x˜hsþ!†!îû ç ¢%̃ ›y!îûöì›Ry ¢‚îû!Çþ“þ î˜– ëy xyîûy„%þ
vþzþ™“þÄ„þyîû x‚Ÿ– ‹#î÷ìî!‰þöìeÄ ¢›,kþ ~î‚ î:y£zöìÝþîû ‹˜Ä
…˜˜ „þîûy £ëûÐ
†y!œöì„þyuþy þ™y£yvþü!Ýþ 5–000 š%þÝþ vþzF‰þ“þyëû xî!ßþi“þ ëy
xõÉþ²Ìöì”öìŸîû ¢öìîÅyF‰þ ßþiy˜Ð

47. (b) ¢‚!î•yöì̃ îû 36“þ› ¢‚öìŸy•öì̃  xy£z̃ 1975éôé~îû x•#öì̃
¦þyîûöì“þîû ¢‚!î•yöì̃ 371(F)éôé~îû x•#öì̃  îûyöìÜTÉîû ‹˜Ä !îöìŸ¡ì
!î•y˜ öîûöì… ~£z îûy‹Ä!Ýþ xîöìŸöì¡ì 26 ~!²Ìœ 1975 ¢yœ
öíöì„þ ¦þyîû“þ#ëû £zvþz!˜ëûöì̃ îû þ™)’ÅyD îûy‹Ä £çëûyîû !¢kþyhsþ
!˜öìëûöìŠéÐ

48. (d) þ™y£zöìîûy!›Ýþyîû vþzF‰þ “þyþ™›yey þ™!îû›yöìþ™ îÄî£*“þ £öìëû íyöì„þÐ

49. (d) ¢îÅ‹˜#˜ ›£y„þ¡ìÅ îöìœîû !˜vþzÝþöì̃ îû ¢)öìe (G)éôé~ ¦þîû ç
”)îûöìcîû ¢yöìí îöìœîû ¢Á™„Åþ •Ê&î„þÐ Géôé~îû ›y˜ £œ 6.67
× 10–8 CGS ~„þ„þÐ

50. (a) RNAôéö“þ ò£zvþzîûy!¢œ ~î‚ ¢y£zöìÝþy!¢˜ó !þ™!îû!›!vþ˜ öî¢
îûöìëûöìŠéÐ

51. (a) öŸï‰þÐ
52. (c) 6 × 7 = 42 7 × 8 = 56

~„þ£z¦þyöìî 10 × 11 = 110 11 × 12 = 132

53. (b)

~„þ£z¦þyöìî

54. (c)

55. (d) 52 + 4 27
2


2 87 53
2
 

2 124
2
 

56. (c)

57.  (c)

58. (d) ¢!àþ„þ vþz_îû ò›yóÐ

59. (a)

60. (b) !„þŠ%é vþy_«yîû ›!£œy £öì“þ þ™yöìîû– !„þŠ%é vþy_«yîû !ŸÇþ„þ £öì“þ
þ™yöìîû xyîyîû !„þŠ%é !ŸÇþ„þ ›!£œy £öì“þ þ™yöìîûÐ ¢%“þîûy‚

61. (d) 1  2  3  –  ho t filtered  coffee ––  (i)
3  5  6 –  very  ho t day          ––  (ii)
5  8  9  –  day  and  n igh t        ––  (iii)

(i) & (ii)  hot – 3   very – 6
(ii) & (iii)  day – 5

62. (a) J O Y F U L 10+15+25+6+21+12 = 89
 S I S T E R 19+9+19+20+5+18 = 90

63. (c)
D H L , P T X , B F J ,  N R V

–2–2–2

–2 –2 –2

64. (a)  7 8 5
14

20
 



 5 8 6
12

20
 



 1 10 2
20
 

=

65. (b) 112 – 12 = 120
72 – 22 = 45

52 – 32 =

66. (b) (45 * 3) * 6 * 2 * 16
 (45 + 3) ÷ 6 × 2 = 16

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20244

 48 ÷ 6 × 2 = 16
 8 × 2 = 16

67. (b) îy!„þ=!œîû öÇþöìe ²Ìí›!Ýþîû myîûy þ™öìîûîûÝþy þ™!îû›yþ™ „þîûy £ëûÐ
68. (a)

(69-70)

69. (a)
70. (c)
71. (b) (15 – 2) = (24 – 11) = (32 – 19) = 13

2  15, 24, 32
2  15, 12, 16

2  15, 6, 8
3  15, 3, 4

5, 1, 4

 œ¢y= = 2 × 2 × 2 × 3 × 5 × 4 = 480

!˜öì’Åëû ¢‚…Äy = 480k – 13 = (465 + 15)k – 13
[k = •˜yd„þ x…[þ ¢‚…Äy]

= 465k + (15k – 13)
= (31 × 15)k + (15k – 13)
465k, 31 myîûy !î¦þy‹ÄÐ
!˜öì’Åëû ¢‚…Äy!Ýþ 31 myîûy !î¦þy‹Ä £öìœ– (15k – 13)
¢‚…Äy!Ýþ 31 myîûy !î¦þy‹Ä £öìîÐ
k = 5 £öìœ– 15k – 13 = 62 öë!Ýþ 31 myîûy !î¦þy‹ÄÐ
 Ç%þo“þ› ¢‚…Äy!Ýþ £œ = 480k – 13

= (480 × 5) – 13
= 2387

72 (a) •!îû– “,þ“þ#ëû ¢‚…Äy!Ýþ 100þ

þ²Ìí› ç !m“þ#ëû ¢‚…Äy ëíye«öì› 130 ~î‚ 140

 þ²Ìí› ¢‚…Äy!Ýþ !m“þ#ëû ¢‚…Äy!Ýþîû
130 6100 % 92 %
140 7
     

73. (b) ¢›öìëûîû x˜%þ™y“þ =
5 4 3

: :
2 3 4

=
5 4 3

12 : 12 : 12
2 3 4
    = 30 : 16 : 9

74. (a) •!îû– ë”%îû ›)œ•˜ = x Ýþy„þy–
¢%“þîûy‚– ŸÄyöì›îû ›)œ•˜ = (400 + x) Ýþy„þy
~î‚ îûyöì›îû ›)œ•˜ = (200 + 400 + x)

= (600 + x) Ýþy„þy
~…˜– x + (400 + x) + (600 + x) = 7000

 3x = 7000 – 1000 = 6000

 x = 2000

 îûy›– ŸÄy› ç ë”%îû “%þœÄ ›)œ•öì̃ îû x˜%þ™y“þ
= 2600 : 2400 : 2000 = 13 : 12 : 10

îûy› þ™yöìî =
13

3500
35
  = 1300 Ýþy„þy

75. (c)


3 2

1 1


Aôé~îû œy¦þ = 24000 Ýþy„þy
 ö›yÝþ œy¦þ = (24000 + 4000) = 28000 Ýþy„þy

76. (a) „þ˜Äy ç þ™%öìeîû ›öì•Ä î!rÝþ“þ Ýþy„þyîû x˜%þ™y“þ

1 1
: 13 :15

100 (18 13) 10 100 (18 15) 10


     

„þ˜Äyîû x‚Ÿ
13

280000 130000
13 15
  


 Ýþy„þy

77. (c)    4 5 650000 1 1 1
100 100 100
  

26 21 5350000
25 20 50

      

= 57876 Ýþy„þy

78. (c) A = 13.31 ö„þy!Ýþ– P = 10 ö„þy!ÝþÐ

²ÌÙÀy˜%¢yöìîû–
n

r
A = P 1

100
  
 

îy–
3

r
13.31 = 10 1

100
  
 

îy–
3

1331 r
 = 1

1000 100
  
 

îy–
3 3

11 r
 = 1

10 100
      
   

îy–
11 r

 = 1
10 100



îy–
r 11 1

 = 1 =
100 10 10



îy– r = 10%

79. (a) vþz_îû ö†yœyöì•Å ‹œ ç ßþiöìœîû x˜%þ™y“þ = 6 : 5
¢›@ùÌ þ™,!íî#öì“þ ‹œ ç ßþiœ¦þyöì†îû x˜%þ™y“þ = 4 : 3
“þy£öìœ ”!Çþ’ ö†yœyöì•Å ‹œ ç ßþiœ¦þyöì†îû x˜%þ™y“þ

   4 6 1 3 5 1:
7 11 2 7 11 2
             

   4 3 3 5 23 31: : 46 :31
7 11 7 22 77 7 22

    


xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers
80. (d)

3
5 1

…¤y!Ýþ ‹œ²Ìí› !›×’

˜“%þ˜ !›×’
7
10

7 3
1

10 10
   
 

7 3 1

10 5 10
   
 

 ²Ìí› !›×’ ç ‹öìœîû x˜%þ™y“þ

3 1
: 3 : 1 12 : 4

10 10
 

 12 !œÝþyöìîûîû ²Ìí› !›×öì’ 4 !œÝþyîû ‹œ ö›Ÿyöì“þ £öìîÐ
81. (d) 10% Çþ!“þ ç 10% œy¦þ ›öì•Ä Ÿ“þ„þîûyîû þ™yíÅ„þÄ 20%

20% = 40 Ýþy„þy
100% = 200 Ýþy„þy

82. (a) •!îû !“þ!˜ îy!„þ x‚Ÿ x% œyöì¦þ !îe«ëû „þöìîû̃ Ð
²ÌÙÀy˜%¢yöìîû

2 5 1 x 13
5400 5400 5400

3 100 3 100 100
      

5400 5400
(10 x) 13

3 100 100
  



10 x 39 

x 29%

83. (a) •!îû– öÝþÆ̃ !Ýþîû †!“þöìî† = x !„þ!›/ö¢öì„þuþ
²Ìí› ç !m“þ#ëû îÄ!_«îû ¢yöìþ™öìÇþ öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî†

ëíye«öì›
5

x 3
18

   
 

 ~î‚
5

x 6
18

   
 

²ÌÙÀ›öì“þ–
5 5

9 x 10 x
6 3

        
   

[ ”)îûc = †!“þöìî† × ¢›ëû]

45 50 55
9x 10x x

6 3 6
     

 öÝþÆ̃ !Ýþîû †!“þöìî†
55 18

33
6 5

    !„þ!›/‡ ù̂Ýþy

84. (b) ²Ìí› öÝþÆ̃ !Ýþ 1.5 ‡ ù̂Ýþyëû 120 !„þ!› ~!†öìëû ëyëû

!m“þ#ëû öÝþÆ̃ !Ýþ 6 ‡ ù̂Ýþy þ™îû ²Ìí› öÝþÆöì̃ îû ¢öìD !›!œ“þ £ëûÐ

 “þyöì”îû ¢yÇþyê £öìî ”%þ™%îû 1.30 Ýþyëû
85. (a) !ßþiîû ‹öìœ ¢¤y“þyîû&îû öî† (v) = 9 !„þ!›/‡ ù̂Ýþy

~î‚ ˜”#îû î£›y˜ †!“þ (u) = 6 !„þ!›/‡ ù̂Ýþy
 ößþËyöì“þîû x˜%„)þöìœ †!“þ = (v + u) !„þ!›/‡ ù̂Ýþy
= (9 + 6) !„þ!›/‡ ù̂Ýþy = 15 !„þ!›/‡ ù̂Ýþy

86. (a) ö›yÝþ „þy‹ = 6
P ç Q ~„þ!”öì̃  ëíye«öì› 3!Ýþ ç 2!Ýþ „þy‹ „þöìîû
P + Q ~„þöìe ~„þ!”öì̃  „þy‹ „þöìîû (3 + 2) = 5!Ýþ
~„þ!Ýþ „þyöì‹îû ‹˜Ä “¤þyîûy ›‹%!îû þ™yëû

6000
1200

5
   Ýþy„þy

 Péôé~îû ›‹%!îûîû
20

20% 3600 720
100

    Ýþy„þy

87. (c)
3

7
 x‚Ÿ þ™)’Å „þöìîû 36 !›!˜öìÝþ

1 x‚Ÿ þ™)’Å „þöìîû 36 7

3

  !›!˜öìÝþ

5

12
 x‚Ÿ þ™)’Å „þöìîû 36 7 5

35
3 12

 



 !›!˜öìÝþ

88. (a) •!îû– ›)œ•˜ = x, ¢%” – xy¢œ = 3x, ¢%” = (3x – x) = 2x

2x 100
r 40%

x 5


 



89. (c)
xtr

y (i)
100
   ~î‚

ytr z — (ii)
100

(i) ÷ (ii)

2x y
y zx

y z
  

90. (c) ²Ìí› öÇþöìe ¢%öì”îû þ™!îû›y’ (448 400) 48    Ýþy„þy

400 r 2
48 r 6%

100

 
  

!m“þ#ëû öÇþöìe ¢%öì”îû þ™!îû›y’ (682 550) 132    Ýþy„þy

550 6 t
132 t 4

100

 
    îŠéîû

91. (a) A : B 1000 : (1000 100) 1000 : 900 10 : 9   

B : C 400 : (400 40) 400 : 360 10 : 9   

~…˜–
A 10 10 100

B 9 10 90


 


B 10 9 90

C 9 9 81


 


A : C 100 : 81
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xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 1  ö›– 20246

²ÌÙÀy˜%¢yöìîû 5 10 : 5 81 

500 : 405=

95 !›Ýþyîû
 A, C ö„þ 95 !›Ýþyöìîû þ™îûy!‹“þ „þîûöìîÐ

92. (b) †!“þöìîöì†îû x˜%þ™y“þ 16 : 9 4 : 3 

²ÌÙÀ›öì“þ–
4 ~„þ„þ = 40 !„þ!›/‡ ù̂Ýþy
1 ~„þ„þ = 10 !„þ!›/‡ ù̂Ýþy
 !m“þ#ëû îÄ!_«îû †!“þöìî† = 10 × 3 = 30 !„þ!›/‡ ù̂Ýþy

93. (d) ¢‚…Äy ”%ó!Ýþ a ç b
a + b = 25
a – b = 13
2a    = 38
a = 19

 n = (25 – 19) = 6
 ab = 19 × 6 = 114

94. (a) (ab bc ca) 0    £ëû–

“þöìî– 2 2 2

1 1 1
?

a bc b ca c ab
  

  
bc ca ab a(b c)     
ab bc ca c(a b)     
ca ab bc b(a c)     

2 2

1 1 1

2 bc b ca c ab
 

  

2 2 2

1 1 1

a a(b c) b b(a c) c c(a b)
  
     

1 1 1

a(a b c) b(a b c) c(a b c)
  

     

ab bc ca
0

abc(a b c)

 
 

 
95. (c) M Tu W 37 3 111    

Tu W Th 34 3 102     
M th 9 

5
Th Th 9

4
 

5Th 4Th 36 
Th 36ºC

96. (d) •!îû– Öîû&öì“þ ö›yÝþ vþz£zöì„þÝþ !˜öìëûöìŠé x!Ýþ
ö›yÝþ Öîû&öì“þ îûy˜ = 12.4x

¢%“þîûy‚– 12.4x 26 (x 5)(12.4 0.4)   

12.4x 26 12x 60   

0.4x 34 x 85   

 öŸ¡ì ›Äy‰þ ö…œyîû xyöì† ö¢ 85!Ýþ vþz£zöì„þÝþ !˜öìëû!ŠéœÐ
97. (a) ~„þ„þ ßþiy˜#ëû xBþ = x, ”Ÿ„þ = y

xy 8 10y x 18 10x y      

x y 2 ......... (i)  

x y 6 ........... (ii)  
(i) ç (ii) ¢›y•y˜ „þöìîû þ™y£z–
x 4, y 2 

 ¢‚…Äy!Ýþ £œ 10 2 4 24   

98. (b)
1 5 1

5a 5 3a 5
3a 3 5a

      
 

2
21

3a 3
5a

    
 

 
2

2 1 1
3a 2.3a. 9

5a 5a
     
 

2

2

1 6 39
9a 9

5 525a
    

99. (a)
1 1

x 2 x 2
1 4

1 1
1 133
4

    
 


13 21
x 2 x

17 17
    

100.(b)
5 17 1

0.625, 0.85, 0.25,
8 20 4
  

11 2
0.7857, 0.4

14 5
 

›yöì̃ îû x•ƒe«öì› ¢y‹yöì̃ y éôôôé

17 11 5 2 1

20 14 8 5 4
   

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å
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